
J

JJ

J

K KL

LL

L

Use this template for drilling.  Refer to instructions on reverse for hardware and installation.

Cable Cutout

Junction Box 
Cutout

Architectural Series Antenna Installation Instructions



Instructions for Use:

1) Remove bracket from back of antenna (a screw on either side holds it in place, leave them threaded 
into the bracket for easier installation)

2) Use the provided template on the reverse of this page as a drilling guide
 Junction Box Mounting:
 Use screws and wall anchors as required in at least 2 of the “J” holes.
 Ceiling Mounting:
 Use screws and wall anchors or toggles as required in at least 2 of the “L” holes.
 Wall Mounting:
 Use (2) screws and wall anchors as necessary in “K” holes.
 OR
 Use screws and wall anchors as required in at least 2 of the “L” holes.

Note: Be sure to orient the cable cutout on the correct side for your cable routing

3) For Diversity Architectural Antenna:  Connect both cables on the antenna to coax cables and 
route through cutout in the side of the bracket or the junction box cutout to the wireless microphone 
system.  For CP Architectural Antenna:  Connect single cable on the antenna to coax cables and 
route through cutout in the side of the bracket or the junction box cutout to the in-ear monitor system.

4) Use the 2 screw holes on the sides of the bracket to mount the antenna to the bracket

Architectural Series Antenna Installation Instructions

©2023 RF Venue, Inc Tel – 01.800.795.0817  •  Fax – 01.617.752.1942  •  orders@rfvenue.com www.RFvenue.com

Junction Box Mounting:
For “J” holes:

Use at least 2 screws: 6-32, 8-32, or as required for your 
box

Ceiling Mounting:
For “L” holes: 

Qty 2: 1/8” Toggle Bolt, 6-32, 2” long
Qty 2: 1/4” x 1 1/4” OD Fender Washer

Wall Mounting:
For Keyhole “K” holes:

Qty 2-4: #6 or #8 screws

OR

For “L” holes: 
Qty 2: 7/8” Drywall Anchor

Qty 2: #6 x 1” Pan Head Sheet Metal Screw

Also required:

•The Diversity Architectural antenna has 2 elements and uses 2 coax cables (not included).

•The CP Architectural antenna has 1 elements and uses 1 coax cable (not included).
 

Suggested Mounting Hardware (not included)


